
  

   � . �.� 

تـــــــــ
ب�ــــ
دئ 
	 ا���ــــ��  

  �رســـــــــ� ا�ـــ���

    

 �. ���	
�����
 

I(  
������� 
������ ���	�� 
	
��� 
       { }0,1,2,3, 4,5.......IN =  

        { }* 1, 2,3, 4,5.......IN = 

 

II( 
��
��� 
������� 
������ ���	�� – 
������  
 (1   ��� �� ���	 �
��
 ���� ��� ����  a ��� ���� 

  ���2a k=  ��� k IN∈.    
 (2 ��� �� ���� �
��
 ���� ��� ����      a ��� ���� 

  ���2 1a k= +��  2 1a k= −  ��� k IN∈  .   

3( ������   
   (a ����	  �!��� "#� $�� !%& ����	 ��� $���  . 
   (b   �����  �!��� "#� $�� !%& ����� ��� $���. 
   (c  (* $�� !%&a� b���	  $)� $�a b+ ���	 . 
      (*  $�� !%&a� b $)� $����� a b+ ���	 . 
      (*  $�� !%&a�  $����	 b  $)� ���� a b+  ���� . 
  (d   (* $�� !%&a� b $)� $����	 ab ���	 . 
    (*    $�� !%&a� b $)� $����� ab ���� . 
  (*      $�� !%&a�  $����	 b  $)� ���� ab ���	 . 

(e   $�� !%& a� b �*+!� ���	 ��,��� $)� $�
����� $���� 
��� �. 
 

III( ��	 ���	� �  
1(!���"  $��- a� b $��
��
 $���� . 

 ��
-! $& ��.�    a ��
�- /��0� b $�� !%& a ��� ���� 
  ���a b k= ��� k IN∈.  

2( ������  
 (*   0 �
��
 ��� �� /��0�  . 
 (*   0 �, ��!� /��0�  - 0.  
 (*    $�� !%&a /��0� b�  b /��0� c $)�   

a ��
�- /��0� b .  

3( ������ �#��� $�"%��� !	� ���  
 !���"  $��-  a� b  $���
�� ��1 $��
��
 $���� . 

 $���
�- �2�3! 4����-! /��0�-!a� b�,  /��0� �2�� 
 ��5��� 4���� "�
�� ��1  .	���� -   � ( , )PPCM a b �� 

a b∨ .   

4( ������  
 (* ��
-! $�� !%&a ��
�- /��0� b $)� ( , )PPCM a b a= 
 (*( , )PPCM a a a= 
 

IV(  ��	 �&�
'  
1(!���"    $��-a� b $��
��
 $���� . 

 ��
-! $& ��.�    a��� 6��.�- ���# b ��
-! $& �� 7 b "�.� 
a $�� !%&  a /��0� b  ��
� a  ��� ��� ���� 

a b k= ��� k IN∈ .   �����/b a.  
 

2( ������  
 (*    "�.� 6�
��
-! �!��3! ��0 .  
 (*   0 �, ��!� ��� "�.� 0.  
 (*   $�� !%&b "�.�a �c "�.�b  $)�c "�.� a.  
 (*    ��
-!1 6�
��
-! �!��3! 8��� "�.� .   
 (*     �9� "�.� ��� ��. 
 (*    ��
�-1 �, ��!� "��# 1.  

 

3( ()	 
�&*�� +���� 2,3,4,5,9,11,25 
a(  ����" 

 $��-0α7 1α 7 2α 7 3α 7 ..... 7rα $� ���#�� 

{ }0,1, 2,3, 4,5,6,7,8,9   

 	��� 6����-��1 0...r rα α α− �%-! ��
-! �-&  

   �!��� "#�    0α   �!��� "#� 7  1α 7 ............ 

 b(     
���-  
 ��
-! ���
�1 0...r ra α α α−=    ����-: 

 (*a ��� 6��.-! ��.� 2 $�� !%& { }0 0, 2, 4,6,8α ∈ 

 (*a ��� 6��.-! ��.� 3 $�� !%& 0 1 23/ rα α α α+ + + +� 

 (*a ��� 6��.-! ��.� 4 $�� !%& 0 14 /α α 

 (*a ��� 6��.-! ��.� 5 $�� !%& { }0 0,5α ∈ 

 (*a  ��� 6��.-! ��.�9 $�� !%& 0 1 29 / rα α α α+ + + +� 

 (*a ��� 6��.-! ��.� 3 $�� !%& 

0 2 4 1 3 5......) ( .....)11 / (α α α α α α−+ + + + + + 

 (*a ��� 6��.-! ��.� 25 $�� !%& { }1 0 00, 25,50,75α α ∈ 

 

4(  ��.�� $�"%��� �&�*������  �� 
  !���" $��-  a� b  $���
�� ��1 $��
��
 $���� . 

���3! 4����-! "��.-! $���
�- a� b"��# ���� �,  "�
�� ��1 
 ��5��� 4����  .	���� -  � ( , )PGCD a b �� a b∧ .   

 

5( /��)'
0 
������
- . 
 $��-a� b $� *IN  ���� a b≥ .  

 ����� ��� $�( , )PGCD a b#� ;���# ����  6�-���� 6����: 
 6��.� ����a��� b ���  ��� "��.�-! <�� �� �� "�.� "= 

 $����� "�
�� �#�� ��� ���� ��� !%�,� �#��-!
( , )PGCD a b "�
�� ��1 �#�� �*> �,  . 

��� ��� ���� �� ?���-! @%, A�*�� $���� :  
 
 
 
 
 
 
 

... ... ... 2r 1r b a 

   3q 2q 1q  

0 
nr ... ... 2r 1r 1r 

 

 



V ( 
��
�� ���	��  
 
1(!���"    ��� �� ��-�� !��� ����a  - �
��
 ���� 

 
.� $����#1 � a.  
 

2( 
����  
(a  ��
-! �, B.��� ��-a ��� �� 8��� �-��  . 

3! �!��3! 8��� ���� 6�-�p  B.�� ��-! 2p a≤  
 "�.� �!��3! @%, ��� $�� !%&a $)� a �-�� ��1 . 

 "�.� C �!��3! @%, 8��� ;��� !%&a $)� a �-�� . 
(b $� �2�3! 6�-�3! �!��3! 100�,  

2 ,3 ,5 ,7 ,11 ,13 ,17 ,19 ,23 ,29 ,31 ,37 ,41 ,43, 47 
7 53 ,59 ,61 ,67 ,71 ,73 ,79 ,83 ,89 ,97. 

(c �-�� ��� �� 2p ≠ ���� �,  
(d  ��
-!1 �-�� E�-  . 
 

3 ( $�.�" 2��
	 3��� (�4 ��	 
��
0 
 
���-: �
��
 ��� �� 2a ≥ ��� <���� 6.��
� ���� 

 ���       31 2
1 2 3. . ...... r

ra p p p pαα α α= ���   

1p 7 2p 7 3p 7 ..... 7rp�� �!���  6�- . 

1α 7 2α 7 3α 7 ..... 7rα 6��
�� ��1 6�
��
 !����  . 
 ��
-! 4��9� ���� 6����-! @%,a 6�-�� ��!�� F!�� �-& . 

 2�5�  
 4�9�-
-! ��54:����-                  $%&    $%&354 2 3= ×  

  
                              

 

4( +���" . 
(a $���
- �2�3! 4����-! /��0�-! a � b F!�� �, 

9� $�� 6�����-! ��1� 6�����-! 6�-�3! ��!�
-! ����a � b 
 E� ���� �-& 6����� . 

(b $���
- ���3! 4����-! "��.-! a � b ��!�
-! F!�� �, 
 ����9� $�� 6�����-! 6�-�3!a � b E� �2�� �-& 6����� . 

 
2�5�    ����- :76 632 76 ∨و632 ∧ 

 
 $��- 

 
 
 
 
 

 $%&3632 2 .79=    �276 2 .19= 
  ���  276 632 2 4∧ = =    �376 632 2 .19.79 12008∨ = = 

 
(c $��- 2a ≥ 

 � 31 2
1 2 3. . ...... r

ra p p p pαα α α= ��
-! 4��9� a ��!�� F!�� �-& 
 6�-��. 

 ��
-! "�!�# ���a  �, 1 2(1 )(1 ) (1 )rα α α+ + +�� 
  

 
 
 
 
 

2 54 
3 27 
3 9 
3 3 

 1 
 

                                     
2 632  2 76 
2 316  2 38 
2 158  19 19 
79 79   1 
 1    

 




